Solving Simple Trig Equations (with answers)

Extra Practice

Solve each equation for 0 < @ < 2nx. Round your answers to the nearest hundredth.

V3

1) sin @ =—
) 2

3) cos @=-2

5) cos 8 =-0.88

7) sin 8 =0.1
9) cos 8=0.13
11) 0.93 =sin 6
13) sin 8 =-1

15) 6.9 =sin @

17) cos 8 =—-0.64

19) —0.9 =sin @

Solve each equation for 0 < 0 < 2x.

1
21) cos @ =——
2

23) cos 8=0

25) sin 6 =%

© 2017 Kuta Softw are L L C.

All rights reserved‘l,'

2) —£=cos (7]
2
4) sin6=—l
2
6) sin 9=—£
2
8) cos 8 =-0.86

10) cos € =—6.99
12) 0.51 =cos 6

14) sin 6 =-0.02
|

16) —=sin 6
2

18) cos 8 =0.12

20) cos ¢9=—£
2
22) sin 0=—£
2
1
24) ——=sin 0
2

26) —£= sin 6
2
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27) sin 8 =-1

29) cos @ =—%

Solve each equation for 0 < @ < 360.

31) sin@=0

33) £=cos0
2

35) —£=sin6

2

37) £=cost9
2

39) £=sin0
2

41) sin @=—1
2

43) cos @ =—£
2

45) sin 6 =¥

47) cos =0

1
49) cos 0 =—
2
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28) sin @ =——
2

30) 0=sin @

32) cos 8 =-1

34) ¥= sin 6

36) cos =0

38) cos 9=—%

40) sin 8 =—l
2

42) 1 =sin @
2

44) sin 8 =0
46) 1=cos 0
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48) cos @ =——
2

50) §= sin 6
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1) {1.05,2.09}
5) {2.65, 3.64/
9) {1.44, 4.84}
13) {4.71}

17) {2.27, 4.02}
21 21 4m
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41) {210, 330}
) |
) {60,

25)

29)

45, 135
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2) {2.36, 3.93
6) {3.93, 5.5}

10) No solution.

14) {3.16, 6.26}
18) {1.45, 4.83
22) 4t Sm

373
St T=n

4° 4
30) {0, m}

26)

34) {45, 135}
38) {135, 225
42) {30, 150}
46) {o}

50) {60, 120}

A1l ri ghts res er3'ed,

3) No solution.
7) {0.1, 3.04}

11) {1.19, 1.95}
15) No solution.
19) {4.26, 5.16

23) T 37n

272

35) {240, 300}
39) {60, 120}
43) {135, 225}
47) {90, 270}

4) {3.67,5.76}
8) {2.61, 3.68
12) {1.04, 5.25}
16) {0.52,2.62
20) {2.62,3.67
24) n 11z

6 6
T 271

373

28)

) {90, 270}

) {210, 330}
44) {0, 180}

) |
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